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NEET MICRO TEST 10 (20.11.2024)

20x4=80 MARKS

Botany: Plant Growth & Development, Zoology: Human Reproduction
Chemistry: Hydrocarbons, Physics: Thermal properties of matters

1. Which meristem helps in increasing the girth of
the plant?
1) Shoot apical meristem
2) Lateral meristem
3) Root apical meristem
4) Intercalary meristem

2. Recognise the figure and find out the correct
labelling.
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1) A — Vascular cambium, B — Shoot apical
meristem, C — Root apical meristem,
D — Cork cambium

2) A — Shoot apical meristem, B — Root apical
meristem, C — Vascular cambium, D — Cork
cambium

3) A — Cork cambium, B — Vascular cambium,
C - Root apical meristem, D — Shoot apical
meristem

4) A — Shoot apical meristem, B — Root apical

meristem, C — Cork cambium, D — Vascular

cambium
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3. Which one correctly explains the sequence of

developmental process in a plant cell?

1) Meristematic cell — Plasmatic growth —
Differentiation — Mature cell

2) Meristematic cell — Differentiation —
Plasmatic growth — Mature cell

3) Mature cell — Plasmatic growth —
Maturation — Meristematic cell

4) Meristematic cell — Senescence — Plasmatic
growth — Mature cell

4. Which of the following PGR can induce
parthenocarpy?
1) ABA
2) Auxins
3) Zeatin
4) Kinetin
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1) A — autero@eony Gt lwib, B — sHewiG  miel

EGHFH, C — Cout miovl oudb@HH g, D —anjsh
G Nwid

2) A — swip meleybGHa, B — Gour  mHie
EGHFH, C — eumerd@eory Gabliwib,
D —amid GaibLilwib

3) A — &y Gaswlunb, B — eumerd@eony
Gsuwliww, C — GeufT BleoT L5 &HH i,

D— saiib Biel oubGH5

4) A — s melaseHa, B — G mHie
EGHH 5, C — AL G NwiD,
D —eumerd@evmy GaibLiluib

3. smauy QFevelled eueniFS  GFweLLpenmUesT

auflengemwl 61 FRws allend@GHImEI?

1) sub@Ha Gaed — Llenmeroomgd auenydd —
BoumLn® — Wb Gee

2) aH5GHa OFe0 — Gaumun® — LlenTerdimgd
uenFd — WFHIHFH Fe0

3) WwHHd QFed — enmerdiomgd auenydFd —
WETe — AHGIHG CFed

4) s5gHs Gged — FCaGFaEed —
LenmeroLomgd euenj&d — (Wwalibd GlFed

4. Nelteupld  HTeuTeueni&Fd  QOMBIGUBHH H6T 615
SH(HAUBTHENWLTHEN6D HITeRIBLD?
1) ABA
2) oybHeImer
3) Suwimgesr

4) enebeuTigest
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5. Cytokinins help to produce all except
1) New leaves
2) Chloroplast in leaves
3) Lateral shoot growth and adventitious shoot
formation
4) Rooting on stem cut

6. Haploid structure among given options is
1) Spermatogonium
2) Primary oocyte
3) Primary spermatocyte
4) First polar body

7. Process of fusion of a sperm with an ovum is
called
1) Implantation
2) Fertilisation
3) Ovulation
4) Parturition

8. Implantation refers to
1) Meeting of sperm and ovum
2) Completion of 1% meiotic division in primary
oocyte
3) Embedding of blastocyst in the uterine
endometrium
4) Process of child birth

9. Choose the correct option.
1) Gametogenesis — Delivery of baby
2) Insemination — Transfer of sperms into female
genital tract
3) Gestation — Fusion of gametes
4) Parturition — Formation of gametes

10. Choose the correct statement.

1) All copulations lead to fertilisation

2) Ovum is released by uterus

3) Only one sperm fertilises an ovum

4) Sperm can fuse with second polar body to

yield a viable zygote

11. Number of possible chain isomers for CsH12
1)3
2)9
3)6

4) 15
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12.
f, P
T)(P) (P)is

1) Hydrocarbon

2()

3)

4) Both (1) and (3)
13.

COONa
NaOH
—
O/ CaO/A

Na,COj + product

14. IUPAC name of following product is
CH.

|
CH, -C-H &9, product

|
CH

1) 3-Methylpropan-1-ol
2) 2-Methylpropan-2-ol
3) Butanoic acid

4) Isopropanol

15. Which is not prepared by wurtz reaction?
1) CoHe
2) C4H1o
3) CHa4
CH,4 CH,4

4) ‘
CH >_<CH3

-
2

16. Two temperature scales A and B are related by
Al_l‘:)z = BZ_TZZ. At which temperature two scales

have the same reading?
1) -42°C

2)—712°C

3) 12°C

4) 40°C

13.

14.

15.

16.
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Na,COj + product

i
Is

ateumid alenenGummeier IUPAC Guiwiy
CH,
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1) 3-Gwg dHeoLriLies-1-&60
2) 2-Gog & eOL|TLILIGH-2-&),60
3) Lyl Lreilés ouflevid

4) egBamyriLeTeD

2 1 61 allenadl eevld SWIMFlSSILLTHHI 61817
1) CoHe
2) C4H1o
3) CH4
CH, CH,

2) -

e Geuliupleney Sienaibhset A wBmid B
o A-42 _ B-72 QeI
A0 o = 50 2L STLY
LW, 6hS Oeuliplensouled EByewi(®

SlenaihHEnHd @@ oTHfluwins BmeED?
1) —42°C

2) —72°C

3) 12°C

4) 40°C
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Three rods of the same dimension have thermal
conductivities 3K, 2K and K. They are arranged
as shown in fig. given below, with their ends at
100°C, 50°C and 20°C. The temperature of their
junction is

) {\ 50°C
100°C K/ :
&
3K \‘\\
* \\ 20°C
1) 60°C
2) 70°C
3) 50°C
4) 35°C

It is hotter for the same distance over the top of a

fire than it is in the side of it, mainly because

1) Air conducts heat upwards

2) Heat is radiated upwards

3) Convection takes more heat upwards

4) Convection, conduction and radiation all
contribute significantly transferring heat
upwards

Two plates of same thickness, of coefficients of
thermal conductivity K: and Kz and areas of
cross section Az and Az are connected as shown
in figure. The common coefficient of thermal
conductivity K will be

1) KiA1 + K2A2

K144
K2A2

2)

3) K1A1+K2A;
A1+A,
K1+ K;

Temperature of water at the surface of lake is
—20°C. Then temperature of water just below the
lower surface of ice layer is

1) —4°C

2) 0°C

3) 4°C

4) -20°C

17.

18.

19.

20.
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@6y ufloTeSHT Py HewihHeT  GleuliL
aLHH1HHmer 3K, 2K ppid K. oieme L ggle0
ST L LU (HeiTerLIg SIMLDHSBLILIL19(THSHELD.
seuppler (wemetser 100°C, 50°C wmpib 20°C
F BHEHGWD. SleuBpler FhH LT GeuliLmlenev

) {\ 50°C
100°C K/ :
K

3K \‘\\
K \\ 20°C
1) 60°C
2) 70°C
3) 50°C
4) 35°C

Op@UIsE GropLBSHed 2 _ser 965 SMSSBE.

SIGHET LSBT IQeL 2 aiTenend el GleulLioms

BHBGID, (PSHSUWILDTS

1) anBml Qeuliubems GeBHTHe Sl GHIBBSI

2) GeutiLnd GoedBBTeHd Leyd B

3) QauliuFFeuad &IF S Gaulilghema CLoeoBHTd)
61(B&HGLD

4) GeuliuFgeoend, HLGHHe0 LBBID SHTeiFH

SN HSILD GBUIL 555 eUMBUIN6L
CelILSHmS GLos0GpBITeH S LOTBBIOISBE
LImIS61T &85l 6eaTm 6ot

Gy swear OTeiL. @Jenih HL(BHH6I, OleuliL
BLHHHFHBes1 K1 woppid Kz @ewismiser wBmib
GBISGH0u B A1l wBpId Az LUGHB6T UL G360
ST LU (BeiTeruig BenemntdbslILL (BeiTener. Gl
sLSBISHBeT K Bt GQuTgieumer Gewisd
A5 BHSGID

K1A1

gfluflesr GoBugliied o eifen BHifler GeuliLpBlenso
—20°C. Yesterny Ll DIBSHH e S CoBuUTILIBG S
&G o_eiTen Biflesr GeuliLplenso

1) —4°C

2) 0°C

3) 4°C

4) —20°C
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Botany: Plant Growth & Development, Zoology: Human Reproduction
Chemistry: Hydrocarbons, Physics: Thermal properties of matters

1. Answer: (2)
2. Answer: (2)
3. Answer: (1)
4. Answer: (2)

5. Answer: (4)
6. Answer: (4)
7. Answer: (2)
8. Answer: (3)
9. Answer: (2)
10. Answer: (3)

11. Answer: (1)

12. Answer: (4)

o'e

Hydrocarbon

13. Answer: (2)

COONa
NaOH
CaO/A
14. Answer: (2)

H KMnQ, 5 \ Ol
; /

15. Answer: (3)
Methane can’t prepared by wurtz reaction

16. Answer: (3)
A-42 B-72
110 220
A-42 A-T2
110 220
2A-84=A-T72
A=12

17. Answer: (2)
Let the temperature of junction be & then

according to the following figure
50°

H=H, +H»
. 3KXAX(100*9)72KA(9*50)+KA(B*ZO)
[4 [4 (4

=300-30=30-120=0=70"C

18. Answer: (3)
Convection significantly transfer heat upwards
(Gravity effect)

19. Answer: (3)

dQ _dQ, _dq,
t dt dt
K(A, +A2_)dT:KIAI d—T+K,A2d—T
dx dx T T dx
KA +K,A,
A +A,

As is clear from figure.

K=

20. Answer: (2)
Temperature of water just below the lower
surface of ice layer is 0°C.
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